Module 3 Quiz Model Answers

INT Opening Bids — MODEL ANSWERS

1. Do you open 1INT with these hands?
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ERIDGW

(a) (b) (c) (d) (e)
a K2 a A52 a K52 a KQ2 A AQ52
v AK62 v AJ62 v 1062 v AK83 v A962
+ A10852 ¢ A1085 * A2 ¢ KJ5 ¢ 105
% 97 % 97 % AQ973 % 973 ® Q97
__No (1e) Yes - INT Yes - INT No (1v) Yes - INT
2. Partner opens 1NT - what do you respond with these hands?
(a) (b) (c) (d) (e)
a AS52 A J98652 A Q8 A5 a A52
v K962 v 62 v KJ53 v KJ1097 v AQ8762
¢ K865 ¢ Q85 + AQ85 ¢ Q85 ¢+ KQJ
® 97 % 97 % A72 % 9742 ®9
| eS| 24 SNT 2y Ay
3. Partner opens 1INT - what do you respond with these hands?
(a) (b) (c) (d) (e)
a QJ9 A AK985 A 8432 A K6 A K6
a K6 v J62 v AQJ107 v 9865 v K8
v 9865 ¢+ A8 + K6 ¢ 543 ¢ Q105
¢ 543 * Q97 ® A5 ® Q842 * KQ7653
...... ZEES 34 3 ....pRass SNT

4. You have opened 1INT and partner has responded 3v - what is your rebid?

(a) (b) (c) (d)
a K2 a AQ52 A KQ52 a KQ2
v K62 v 62 v 1062 v A983
+ A1085 ¢ A1085 * A2 + K75
& Q1097 % A97 & A1098 % 973
de 3NT 4e de

(e)
A A652
v KQ
¢ K1054
& Q97

5. You have opened 1NT and partner has responded 2NT what is your rebid?

(a) (b) (c) (d)
A QJ98 a A52 A AB52 a K52
v K102 v Q62 v KQ v A763
¢ AQ ¢+ A1085 + K1054 ¢ A75
% Q1097 % Q97 % Q97 % Q3
3NT pass 3NT pass
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(e)
a QJ10
v K10
¢+ AQJ98
% 1098

Updated: 12-Mar-25



